
 

Nachbarzahlen 9 
 
 
1. Ergänze die Tabellen. 
 
 

Vorgängerzehner       

Zahl 4 501 3 542 1 428 5 413 8 454 6 243 

Nachfolgerzehner       
 
 

Vorgängerhunderter       

Zahl 4 745 2 396 3 547 6 256 1 098 2 234 

Nachfolgerhunderter       
 
 

Vorgängertausender       

Zahl 2 987 6 261 3 457 1 489 7 553 8 922 

Nachfolgertausender       
 
 
2. Rechne mit verwandten Aufgaben. 
 
 

40 +      30 = ________  34 +      11 = ________ 

400 +    300 = ________  340 +    110 = ________ 

4 000 + 3 000 = ________  3 400 + 1 100 = ________ 

 
 
 

54 +      22 = ________  37 +      42 = ________ 

540 +    220 = ________  370 +    420 = ________ 

5 400 + 2 200 = ________  3 700 + 4 200 = ________ 

 
 


